20180911

7 - - — —v E—
2018 9 11 12:00 13:00
B 3 B313
o k4 - « ' fiea e
J
$fi 20 - 21 —v k- — @22 o [k
- — _!_<ﬁj_|__ - =~ T™™M= _ - = T™
= 7T
18 4
fi 4D  ¥fi 4D
¢fi 2D
- — - 1] - = ™M=
Ve L 2 L MO ko L =0 % | 3 # Nef ° DPAT
< 0% —NJ V £ — 4 —v E— % 9 =™
fe oo o=
| L L L e-
diowfiy! od < o= L [ =%Ve Z |
e-diowfiz!n - td=m™ - - 4L gy
— e o - #| Y% E-o ™o td =%y 4 o=
- Y% o™ ~@-di opfir’ oL Aoz— 4
eV 9 | — | < L - k= ]/8|If”- YeNof V © =
£l - - Lopvs |
— — #No Vo — - o
<diowfit' 2% 5 = < — - r= M= -
A
0% 7 2 —®-2i opfis' D # k= -
- M E g% o= #lqe o % H=%kn
- < %  #Nef 1<% tdVe
- ## % < o= %% % - evi L -V e
™ML 9 L [ Vo L N Y A



- H - sl L =y -

- = % — < e=| -1 o/ — M 4 FM Ye |-
L= %' oo - - v 14 2Llyvi4-
I L fv 8 13 -  %FM - o
$fi =D g L Ls— o™= 1L 10
R N - L e
L= — — =V k- 2%l <sna=%1<
| T I 2 I
of =™V << ™Mz A %ooof Vs ™V - o= AL =V
Loglkd | o <=L - % of =™ L_znNeo
— < e= orsd A% - emdfii- A%
A e R e wnef
B | LlE- s — o fivwiia —
D 0% e S-S il & R
gA° - L —0 Y%# — -|li1e-v 4 “EqE0
01 MO
- & r=%ne
tErF D
B — | o VeYerd — % %o oo
I
e, o —
n -  %s=l # Nef ©
n /—-L——e TPt zno /- — ez Lty == L
40 ™ <4— q =%  #£%oos= -of =™ < LNe
1 K L ogpdam™
n 4 - LN =T eeots%fiis— &£ {vE- o
L Nef| d Y%B# Yoo ™ —
n# %o ™V k- d de=cwge K L 21<%
K - %y e o
n 0 +- o Bheol<E| o™ K nFoos< ™Me | <#

L e



nie v % 2 29<nNnNn

PTSD 1% 21 <# DSM-5 1 4
n - % 4
n - % Ne||
n h' eo* Pee — 1<% r=Yo™
n 4 - % g A - K1 —1 <%
™= o3 el <¥%NH g A°
0 | #%-02 ™ K n 62 o  Doi ™
s - %o fisz qde
Yo f—awd . — T T
©," o < — 4d @i — L= ™ AL
- L r=t {12 «fise i Lo o +-
se= afik cH wk-
= [k%f Vv - —Leg 4 n Al e
< ™[ Y ol L A

+- L 4 o=my
®," ®— -0 <
Yolkood 1A
ol L
bsr Re=q
FNof vd{dam™m el e L [ =20
B Fdd 1% #Nefs™ey<d 4=
B - L 4 == az—"'"pr. @ 4 o= L 9
Lo=LlEkersl gAo
olf-
Hfi w2 LN #" fi ®
ol oL % o
01 <% |[Fdom™ L g =, | L =20
%  dwmtfia% 12— 2 3
sy | < ™e %6 Ned Fal o ™35 - % F# -3e€l
< ¥%Nef © ot # | < o= | eq0 ™o ™ < %N ©
A |  1ESRo = %Nef ©
- v+ dd o %™= PDF N



Llg— e 8fi 2D - ~ > L - =L
€ L Nef
/— ~Llyor & - = ™= — %ot 9 =™ -2 Le g
o e=mid pfms myac
$fi 20D 2 — < < o= — q
— —owel if=m % s

|74 -4 of=™]° ) 6Pwm*d @142 L L<
42 41 <00 ¥fi2d eaehd ¥fiad < 2% fer -= ™%
3 - Fe?

—vt oofis L # N Lo oy L PETRI
fioe=s =1 o=2%01<l £A°



